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Use lattice multiplication to solve each problem.
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Answers

1. 40,572

2. 44,891

3. 35,046

4. 7,638

5. 48,960

6. 10,278

7. 51,072

8. 34,408

9. 34,488

10. 24,921

11. 16,254

12. 37,149



Name: Answer KeyLattice 3 by 2

Math www.CommonCoreSheets.com
cocosheets.com/sheet/1254712

Use lattice multiplication to solve each problem.

1)
966 × 42 =

9 6 6
3

1

2

1

2

1

5 7 2
0

4
4

2
8

6

2

4

2

4

2)
583 × 77 =

5 8 3
3

3

5

5

2

2

8 9 1
4

4
7

7
5

5

6

6

1

1

3)
594 × 59 =

5 9 4
2

4

4

8

2

3

0 4 6
5

3
5

9
5

5

1

5

6

0

4)
201 × 38 =

2 0 1
0

1

0

0

0

0

6 3 8
7

0
3

8
6

6

0

0

8

3

5)
816 × 60 =

8 1 6
4

0

0

0

3

0

9 6 0
8

4
6

0
0

8

0

6

0

6

6)
571 × 18 =

5 7 1
0

4

0

5

0

0

2 7 8
0

1
1

8
0

5

6

7

8

1

7)
798 × 64 =

7 9 8
4

2

5

3

4

3

0 7 2
1

5
6

4
8

2

6

4

2

8

8)
748 × 46 =

7 4 8
2

4

1

2

3

4

4 0 8
4

3
4

6
2

8

4

6

8

2

9)
479 × 72 =

4 7 9
2

0

4

1

6

1

4 8 8
4

3
7

2
8

8

4

9

8

3

10)
639 × 39 =

6 3 9
1

5

0

2

2

8

9 2 1
4

2
3

9
4

8

7

9

1

7

11)
903 × 18 =

9 0 3
0

7

0

0

0

2

2 5 4
6

1
1

8
2

9

0

0

4

3

12)
427 × 87 =

4 2 7
3

2

1

1

5

4

1 4 9
7

3
8

7
8

2

4

6

9

6

Answers

1. 40,572

2. 44,891

3. 35,046

4. 7,638

5. 48,960

6. 10,278

7. 51,072

8. 34,408

9. 34,488

10. 24,921

11. 16,254

12. 37,149

1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0


	Worksheet
	Answer Key

